Chip Shop Takeaway Addition and Subtraction

Here is the menu from a fish and chips shop.

Fish £5.82
Small Chips £1.34
Large Chips £2.47
Battered Sausage £1.58 —
Meat and Potato Pie £3.14
Burger £4.28
Kebab £5.17
Mushy Peas £0.64
Curry Sauce £0.49

Answer the questions below, using the menu to help you.

1. Samuel orders a large portion of chips, a fish and mushy peas.
What is the total cost of his order? Show your working here.
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2. Jake orders two burgers and a kebab. What is the total cost of his order?
Show your working here.

3. Abu orders a meat and potato pie and mushy peas. He pays with a £5
note. How much change does he receive? Show your working here.

 REGENT STUDIES

‘'ocused education on life’s walk!
www.regentstudies.com



https://www.regentstudies.com

4, Isla and her friend Olivia buy two fish and a large chips. They also buy a curry sauce.
They pay with a £20.00 note. How much change do they get? Show your working here.

5. A customer orders three burgers and two kebabs. He asks for the
order to be delivered. There is a delivery charge of £2.00.

a) What is the total cost of the order?

b) The customer pays £30. What change does he get?
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Challenge

Write down your own order from the Chip Shop Takeaway.

Calculate the total cost of the food you would like to buy.

Total cost:
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Chip Shop Takeaway Addition and Subtraction Answers

Here is the menu from a fish and chips shop.

Fish £5.82
Small Chips £1.34
Large Chips £2.47
Battered Sausage £1.58 —
Meat and Potato Pie £3.14
Burger £4.28
Kebab £5.17
Mushy Peas £0.64
Curry Sauce £0.49

Answer the questions below, using the menu to help you.

1. Samuel orders a large portion of chips, a fish and mushy peas.
What is the total cost of his order? Show your working here.

£5.82 + £2.47 + £0.64 = £8.93
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2. Jake orders two burgers and a kebab. What is the total cost of his order?
Show your working here.

£428 + £4.28 + £5.17 =£13.73
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£13.73

3. Abu orders a meat and potato pie and mushy peas. He pays with a £5
note. How much change does he receive? Show your working here.

£3.14 + 0.64 = £3.78 £5.00 - £3.78 = £1.22
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£1.22
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4, Isla and her friend Olivia buy two fish and a large chips. They also buy a curry sauce.
They pay with a £20.00 note. How much change do they get? Show your working here.

£5.82 + £5.82 + £2.47 + £0.49 = £14.60

£20.00 - £14.60 = £5.40
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5. A customer orders three burgers and two kebabs. He asks for the
order to be delivered. There is a delivery charge of £2.00.

a) What is the total cost of the order? £25.18

b) The customer pays £30. What change does he get? £4.82

£4.28 + £4.28 + £4.28 + £5.17 + £5.17 = £23.18

£30.00 - £25.18 = £4.82
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